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Jl=2&I(21d) 27,500 27,500 0
201 er23| 19,700 19,700 0
01 At2teltl 19,700 19,700 0
Oget==ZH| 16,900
-FAEE SHAY 16,900,000 16,900
O=gH| 2,800
-REA2E SHA Y 2,800,000 2,800
202 04| 3,000 3,000
01 =LHAHI 3,000 3,000
ORN2g U 3,000,000 3,000
203 YR EA| 4,800 4,800
eI 4,800 4,800
OfRM2IYRF2HI(F 30g) 4,800
-3 302! olat 400,000& 1220 2 4,800
Jl=Zdl(S8ed) 5,800 5,800
201 el 2,800 2,800
01 At22t2lt] 2,800 2,800
O=gH| 2,800
-FAE2E SHAY 2,800,000& 2,800
202 O] 3,000 3,000
01 2L AL 3,000 3,000
ORMEE SHA 3,000,000 3,000




FA: BIRASAI

M HHSAAY| (A ZA)

S9l: D12 ZH|(SIRE A COR-E
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
ll2dul(As) 5,800 5,800

201 L2 | 2,800 2,800
01 Ar22eltl 2,800 2,800
O=gtl 2,800
-FA2E SHAHL 2,800,000& 2,800
202 04dl 3,000 3,000
01 =LHO4 L] 3,000 3,000
ORNEE S & 3,000,000& 3,000
J12d8(XH) 4,640 4,640
201 Let2| 2,240 2,240
01 ArR2eltl 2,240 2,240
O=&t| 2,240
-2EA2E SUAHY 2,240,000& 2,240
202 04d| 2,400 2,400
01 =LHO4 L] 2,400 2,400
FA2E SUA A 2,400,000& 2,400
JI2ZHI(EX2tel) 4,640 4,640
201 B2 AL| 2,240 2,240
01 AtR2eltl 2,240 2,240
O=gHl 2,240
-SN2E SUAH Y 2,240,0002 2,240
202 Ot 2,400 2,400
01 =WHO4 LI 2,400 2,400
ORA2E SHAY 2,400,000& 2,400
J12ZHI(XIETHZAL 5,800 5,800
201 2| 2,800 2,800
01 ArR2eltl 2,800 2,800
O=&l 2,800
-FN2E SUAH A 2,800,000& 2,800
202 Ot 3,000 3,000
01 =WO4bl 3,000 3,000
ORAN2dE SAH 3,000,000& 3,000




